<ENFREDRE BEESE>
(B4 EFQ9B HR—8)

= B K B HA SR B R
B Kt BSE 11 = B
R 8 Xt 14 X
= K HE [B— 19 = B
£HERIER =25 =8I 19 | aRN17.475 Zoom
1FoniBHelsR BN BE 20 | f8isisait = B
HIESS it B8 23 | &8 = B
EES N2 &R 27 |L¥® ICT = 1%
EHES UE 75 28 | B = 15
BIFIES NI %5 6 X
BITIES BB 58 8 = 1%
BITIES FE % 10 X
BIFIEsS 1.7 N =3 16 = 1B
BITIESE HH oA 18 = B
BEES I B 19 Zoom
BITIES NE B 22 = B
BITIESE pick=i i 24 | ARt ZREREER X
BEES Wi 0= 25 Zoom
BITIES AP8 26 = B
BITIES Pix #EI 30 |L#R - ICTZEEREER X
BIFIES WA ZFH 32 | MBEEREZIRBHBB/RE Zoom
BITIES B BB 34 | BEFRESREER = 1B
BITIES fe81|E &R 35 X
BIFIESE 2R 8B 35 Zoom
BITIES ‘i BN 39 X
BITIES BB SARB 44 X
BIEEE B B= 46 X
BITIES AR F2 48 | LHEEREZER X
BIEEE i]ie =1 21 | ERX = B
SITES B BE 16 | BE3PaszE0 Zoom
SITES 2E B 21 | RUDO= Zoom
BIFIESE mH OEE 21 | X X
BTES (= 21 | PEfX Zoom
BIFES X & 23 | h&3zEp X
SITIES BE B 14 | EBEX = B
B = g 21 = B
B 3 fEIs  Fobg 43 X
EHBEE Ft HRB 19 = &
BHEE e ZER — X
MRS MA B 25 = &




